EAGLE — vybér soucastek

B Info Pz
Part: B&V2 (0.6 7.7)
Gate = (FEO5-1)
Value =

Rotation = RO

Devices = FEO5-1
Package = FEO5-1
Library = con-lsta
FEMALE HEADER y

Part: GNDI1 (4.1 4.9)
Gate = (GND}
Rotation = RO
Device GND
Packags =

Library = supplyl

SUPELY SYMBOL

Part: X2 (0.3 5.4)

Gate = -1 (KL)

wvalue E

Swaplevel = 0

Addlevel = Always X2-1
Rotation = RO »
Device = W237-102

Package = W237-102 X2-21
Library = con-wago-500

WAGO SCREW CLAMF

part: DlZ (0.6 5.4)

Gate = (D)

valus = IN4001 (overwrites device name)
Rotation = RO

Device = 1N4004

Package = D041-10

Library = diode

DICDE

Rotation

: R14

Device
Package
Library

(1.5 6.3)
(R-EW)

RID
R-EU_0207/10
0207/10

rel

RESISTOR, European symbol

/

E Info g|
Part: 01 (2.1 6.8)
Gate = (XTAL) &7 Info 3
Yalus = Part: D+2 (2.5 7.4)
Retaticen = RO Seee = (vee
Device = MTAL/S Rotation = RO
Package = @ Device = VCo
Library = gpecial e _
Snaslizd Library = supplyl
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1 Info ]
Part: 51 (3.6 5.2)
part: c2 (2.3 6.6) Gate = (T8e)
Part: C10 (2.5 5.1) Gate = {(C-EU) Value =
Gate = (CPOL) Valus = Rotation = RO
Value = 4;0mxcro§‘/16v Rotation = RO mee = 10-xx
Rotation = RO _ Device = C-EU025-024X044 Package = BIF-10XX
Tackege - 256 " Package = C025-024x044 Library = switch-omron
Library = rel Library = rcl
POLARIZED CAPACITOR, European symbol CAPACITOR, European symbol COMRON SWITCH
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F Info E|
Part: D1 (4.1 5.3}
Gate = (LED)
Rotation = RO
Device = LEDSMM
Package = LEDSMM
ibrary = led
LED

= [ Info.

Wire: (2.2 Z.9) (2.
Width = 0.0

Style = Corffinucus
Layer = 16 Bottom
Curve = 0°

Signal: GNT|

Class = 0O fault

length = 0O.
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